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Les	
  enchères	
  de	
  Chelem	
  
Exemples	
  de	
  techniques	
  d’enchères	
  

0	
  Préambule	
  :	
  

Dans	
  la	
  suite,	
  nous	
  allons	
  voir	
  différentes	
  techniques	
  d’enchères	
  sur	
  des	
  séquences	
  
proposées	
  .	
  Pour	
  chaque	
  séquence,	
  donnez	
  votre	
  enchère	
  puis	
  dès	
  que	
  vous	
  avez	
  fini,	
  regardez	
  alors	
  
les	
  solutions	
  avec	
  les	
  commentaires	
  et	
  la	
  cotation	
  pour	
  chaque	
  enchère.	
  

Toutes	
  ces	
  donnes	
  sont	
  difficiles	
  et	
  ont	
  été	
  rencontrées	
  à	
  la	
  table.	
  Il	
  vous	
  faudra	
  de	
  la	
  
technique	
  et	
  des	
  automatismes	
  ainsi	
  qu’un	
  bon	
  jugement.	
  Sauf	
  remarque	
  explicite,	
  vous	
  êtes	
  en	
  
match	
  par	
  4.	
  Bon	
  entraînement	
  !	
  

1.	
  Les	
  différentes	
  donnes	
  :	
  

Donne	
  1	
  :	
  vous	
  êtes	
  en	
  match	
  par	
  paire	
  

AD10876	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD5	
   	
   	
   	
   	
   1P	
   	
   contre	
   4P*	
  

RD65	
   	
   	
   passe	
   	
   ?	
   	
   	
   	
   	
   	
   	
  

-­‐	
   	
   	
   *	
  Soutien	
  distributionnel	
  11-­‐12	
  HLD	
  au	
  moins	
  4	
  atouts	
   	
   	
   	
  

Est	
  ce	
  suffisant	
  ou	
  faut	
  il	
  continuer	
  les	
  enchères	
  :	
  un	
  chelem	
  est	
  il	
  encore	
  possible	
  ?	
  
Attention	
  le	
  contre	
  est	
  derrière	
  vous.	
  

Donne	
  2	
  :	
  

5	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

-­‐	
   	
   	
   2K	
   	
   passe	
   	
   3T*	
   	
   passe	
  

A5	
   	
   	
   4T	
   	
   passe	
   	
   4P	
   	
   passe	
   	
   	
   	
   	
   	
  

ARDV1098653	
   ?	
   	
   	
  

3T*	
  :	
  un	
  As	
  et	
  au	
  moins	
  un	
  roi	
  

Quelle	
  est	
  votre	
  enchère	
  ?	
  

Donne	
  3	
  :	
  

A102	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

A86	
   	
   	
   	
   	
   	
   	
   	
   	
   1P	
  

RDV10876	
   	
   passe	
   	
   2K	
   	
   passe	
   	
   2C	
   	
  

-­‐	
   	
   	
   passe	
   	
   3P*	
   	
   passe	
   	
   4K**	
  

	
   	
   	
   passe	
   	
   4C**	
   	
   passe	
   	
   4P***	
  

	
   	
   	
   passe	
   	
   ?	
  



♣♦♥♠ 	
   	
  	
   Bridge	
  ENS	
  
	
  

JLN Cours	
  Année	
  3 page	
  2/17	
  
	
  	
  

3P*	
  =	
  fit	
  forcing,	
  espoir	
  de	
  chelem	
  

4K**,	
  4C**	
  =	
  complément	
  d’honneur	
  dans	
  la	
  couleur	
  

4P***	
  =	
  plus	
  rien	
  à	
  dire	
  avec	
  certainement	
  des	
  perdantes	
  Trèfles	
  

Allez	
  encore	
  un	
  petit	
  effort	
  pour	
  demander	
  ce	
  chelem	
  qui	
  vous	
  tend	
  les	
  mains.	
  

	
  

Donne	
  4	
  :	
  

A10964	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

DV93	
   	
   	
   passe	
   	
   passe	
   	
   1K	
   	
   passe	
  

D4	
   	
   	
   1P	
   	
   passe	
   	
   2C	
   	
   passe	
   	
   	
   	
   	
  

98	
   	
   	
   3C	
   	
   passe	
   	
   4T*	
   	
   passe	
  

	
   	
   	
   ?	
  

4T*	
  =	
  contrôle	
  

Allez	
  vous	
  continuer	
  les	
  enchères	
  ?	
  

Donne	
  5	
  :	
  

AR86	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

RDV1062	
   	
   	
   	
   1K	
   	
   passe	
   	
   1C	
   	
  

D	
   	
   	
   passe	
   	
   3C	
   	
   passe	
   	
   3P	
   	
   	
  

V6	
   	
   	
   passe	
   	
   4T*	
   	
   passe	
   	
   4SA	
  

	
   	
   	
   Passe	
   	
   5T**	
   	
   passe	
   	
   ?	
  

4T*	
  =	
  contrôle	
  

5T**	
  =	
  0	
  ou	
  3	
  clefs	
  

Votre	
  partenaire	
  vous	
  annonce	
  une	
  main	
  de	
  18	
  19HLD	
  avec	
  quatre	
  cartes	
  à	
  cœur.	
  Quel	
  
contrat	
  souhaitez	
  vous	
  jouer	
  ?	
   	
   	
   	
   	
  

Donne	
  6	
  :	
  vous	
  êtes	
  en	
  match	
  par	
  paire	
  

AD10876	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD5	
   	
   	
   	
   	
   1P	
   	
   contre	
   4K*	
  

RD65	
   	
   	
   passe	
   	
   ?	
   	
   	
   	
   	
   	
   	
  

-­‐	
   	
   	
   *	
  Soutien	
  distributionnel	
  11-­‐12	
  HLD	
  au	
  moins	
  4	
  atouts	
  et	
  5	
  beaux	
  
carreaux,	
  style	
  enchère	
  de	
  rencontre.	
   	
   	
   	
  

Quelle	
  est	
  votre	
  enchère	
  ?	
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Donne	
  7	
  :	
  

A843	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

D5	
   	
   	
   passe	
   	
   1T	
   	
   passe	
  	
  	
   1K	
  

R	
   	
   	
   passe	
   	
   1P	
   	
   passe	
   	
   4P	
   	
   	
   	
   	
   	
  

AR7543	
   	
   passe	
   	
   ?	
   	
  

Votre	
  partenaire	
  a	
  promis	
  5	
  carreaux	
  corrects	
  avec	
  4	
  cartes	
  à	
  pique	
  et	
  une	
  main	
  de	
  13	
  
15HLD.	
  Continuez	
  vous	
  les	
  enchères	
  ?	
   	
  

	
  

Donne	
  8	
  :	
  	
  

AR9432	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

95	
   	
   	
   1K	
   	
   2P	
   	
   X	
   	
   4K*	
  

9874	
   	
   	
   6T	
   	
   passe*	
   6K	
   	
   passe	
   	
   	
   	
   	
   	
  

7	
   	
   	
   passe	
   	
   ?	
  

2P	
  :	
  intervention	
  classique	
  

4K*	
  :	
  splinter	
  ,	
  fit	
  au	
  moins	
  4ème	
  avec	
  une	
  courte	
  à	
  carreau	
  (certainement	
  une	
  chicane)	
  

6T	
  :	
  gros	
  bicolore	
  du	
  déclarant	
  demandant	
  au	
  partenaire	
  de	
  choisir	
  son	
  chelem	
  

passe*	
  :	
  l’entame	
  carreau	
  devrait	
  faire	
  chuter	
  de	
  2	
  levées	
  ce	
  chelem	
  

6K	
  :	
  rectification	
  

Avez	
  vous	
  quelque	
  chose	
  d’intelligent	
  à	
  faire	
  ?	
  

Donne	
  9	
  :	
  vous	
  êtes	
  en	
  match	
  par	
  paire	
  

84	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

R8	
   	
   	
   	
   	
   	
   	
   	
   	
   1C	
  

RD74	
   	
   	
   passe	
   	
   2T	
   	
   passe	
   	
   3T	
   	
  

ARD86	
   	
   passe	
   	
   3K	
   	
   passe	
   	
   3P	
  

	
   	
   	
   passe	
   	
   4C	
   	
   passe	
   	
   4P*	
  

	
   	
   	
   passe	
   	
   4SA	
   	
   passe	
   	
   5SA**	
  

	
   	
   	
   passe	
   	
   ?	
   	
   	
   	
   	
   	
  

3K,	
  3P	
  :	
  contrôles	
  

4C	
  :	
  un	
  gros	
  honneur	
  second	
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4P*	
  :	
  double	
  contrôle	
  pique	
  

5SA**	
  :	
  Deux	
  clés	
  et	
  une	
  chicane	
  utile.	
  Réponse	
  rare	
  	
  à	
  ne	
  pas	
  oublier	
  mais	
  à	
  utiliser	
  
uniquement	
  quand	
  :	
  

-­‐ vous	
  avez	
  une	
  main	
  intéressante	
  
-­‐ la	
  chicane	
  est	
  utile	
  

Il	
  vous	
  reste	
  à	
  grimper	
  une	
  ou	
  deux	
  marches.	
  Sur	
  laquelle	
  allez	
  vous	
  atterrir	
  ?	
  

	
  

Donne	
  10	
  :	
  

RV764	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

RV	
   	
   	
   2K	
   	
   passe	
   	
   2SA	
   	
   passe	
   	
   	
  

765	
   	
   	
   3SA	
   	
   passe	
   	
   4C	
   	
   passe	
   	
   	
  

V63	
   	
   	
   5P	
   	
   passe	
   	
   ?	
   	
  

Le	
  rebid	
  à	
  3SA	
  indique	
  une	
  main	
  régulière	
  de	
  24H	
  et	
  plus,	
  vous	
  faites	
  un	
  Texas	
  et	
  votre	
  
partenaire	
  met	
  5P.	
  A	
  vous	
  de	
  conclure	
  ?	
  

	
  

Donne	
  11	
  :	
  

A7	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

V10643	
   	
   	
   	
   	
   	
   1T	
   	
   passe	
  

AD8	
   	
   	
   1C	
   	
   passe	
   	
   2C	
   	
   passe	
   	
   	
  

AR4	
   	
   	
   ?	
  

	
   Un	
  chelem	
  est	
  très	
  probable,	
  compte	
  tenu	
  de	
  vos	
  5	
  cartes	
  à	
  cœur	
  et	
  de	
  vos	
  18	
  points	
  
d’honneurs.	
  Quelle	
  enchère	
  faites	
  vous	
  ?	
  

	
  

Donne	
  12	
  :	
  

D10	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD10	
   	
   	
   	
   	
   1T	
   	
   passe	
   	
   1K	
  

A10532	
   	
   passe	
   	
   2P	
   	
   passe	
   	
   3T*	
   	
   	
   	
  

982	
   	
   	
   passe	
   	
   4T**	
   	
   passe	
   	
   ?	
  

3T*	
  =	
  fit	
  forcing	
  dans	
  la	
  première	
  couleur	
  du	
  partenaire`	
  

4T**	
  =	
  très	
  belle	
  couleur	
  de	
  l’ouvreur	
  (couleur	
  qui	
  voyage	
  en	
  TGV	
  1ère	
  classe).	
  

Vers	
  5,	
  6	
  ou	
  7	
  et	
  comment	
  ?	
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Donne	
  13	
  :	
  vous	
  êtes	
  en	
  match	
  par	
  paire	
  

R108	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

V4	
   	
   	
   	
   	
   1K	
   	
   passe	
   	
   1P	
   	
   	
  

RV97	
   	
   	
   passe	
   	
   1SA	
   	
   passe	
   	
   3K*	
   	
   	
   	
   	
   	
  

RDV9	
   	
   	
   passe	
   	
   3P	
   	
   passe	
   	
   4T	
  

	
   	
   	
   passe	
   	
   4K	
   	
   passe	
   	
   4SA	
  

	
   	
   	
   passe	
   	
   ?	
  

3K*	
  :	
  forcing	
  de	
  manche	
  sans	
  5	
  cartes	
  à	
  pique	
  (absence	
  de	
  Roudi)	
  

3P	
  :	
  complément	
  à	
  pique	
  	
  

4T	
  :	
  contrôle	
  à	
  Trèfle	
  et	
  à	
  cœur	
  (vous	
  dépassez	
  la	
  manche	
  à	
  Sans	
  atout)	
  

4SA	
  :	
  Est	
  ce	
  un	
  Blackwood	
  ou	
  un	
  quantitatif.	
  A	
  vous	
  !	
  

	
  

Donne	
  14	
  :	
  

A10872	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

R8	
   	
   	
   	
   	
   	
   	
   	
   	
   1C	
  

ADV5	
   	
   	
   passe	
   	
   1P	
   	
   passe	
   	
   4T*	
   	
   	
   	
  

62	
   	
   	
   passe	
   	
   ?	
  

4T*	
  =	
  Splinter	
  (transfert	
  de	
  capitanat)	
  

La	
  suite	
  semble	
  couler	
  de	
  source….	
  Mais	
  laquelle	
  ?	
  

	
  

Donne	
  15	
  :	
  

D2	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD42	
   	
   	
   1SA*	
   	
   passe	
   	
   2C	
   	
   passe	
  

8764	
   	
   	
   2P	
   	
   passe	
   	
   3C**	
   	
   passe	
   	
   	
   	
  

R102	
   	
   	
   4T***	
   	
   passe	
   	
   4K	
   	
   passe	
  

	
   	
   	
   4SA	
   	
   passe	
   	
   5K****	
   passe	
  

	
   	
   	
   ?	
   	
   	
  

1SA*	
  =	
  10	
  12H	
  (très	
  fréquent	
  dans	
  les	
  pays	
  anglo	
  saxons)	
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3C**	
  =	
  5	
  cartes	
  à	
  cœur	
  chelemisant	
  

4T***	
  =	
  contrôle	
  trèfle,	
  fit	
  cœur	
  	
  

4K	
  =	
  contrôle	
  

5K****	
  =	
  3	
  clés	
  à	
  l’atout	
  cœur	
  

5SA	
  =	
  demande	
  de	
  Rois	
  

Quelle	
  est	
  votre	
  enchère	
  ?	
  Quel	
  contrat	
  envisagez	
  vous	
  ?	
  

	
  

Donne	
  16	
  :	
  

A4	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

DV75	
   	
   	
   1T	
   	
   1P	
   	
   2C	
   	
   3P	
  

AV5	
   	
   	
   ?	
   	
   	
   	
   	
   	
  

ADV10	
   	
   	
   	
  

	
   La	
  séquence	
  démarre	
  bien,	
  mais	
  les	
  adversaires	
  (Vert	
  contre	
  Rouge)	
  ont	
  décidé	
  de	
  
vous	
  embêter	
  en	
  polluant	
  sciemment	
  votre	
  dialogue.	
  Quelle	
  est	
  votre	
  enchère	
  ?	
   	
   	
  

	
  

Donne	
  17	
  :	
  

AD8	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

A6	
   	
   	
   2SA	
   	
   passe	
   	
   3C	
   	
   passe	
  

A63	
   	
   	
   ?	
   	
   	
   	
   	
   	
  

AR1075	
   	
   	
   	
  

Vous	
  jouez	
  la	
  rectification	
  fittée.	
  Vous	
  êtes	
  maximum	
  de	
  votre	
  enchère.	
  Quelle	
  est	
  
votre	
  enchère	
  ?	
  

	
  

Donne	
  18	
  :	
  

532	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

ARD5	
   	
   	
   	
   	
   	
   	
   1C	
   	
   passe	
  

-­‐	
   	
   	
   2T	
   	
   passe	
   	
   2K	
   	
   passe	
   	
   	
   	
   	
   	
  

ARD852	
   	
   3C	
   	
   passe	
   	
   3P	
   	
   passe	
  

	
   	
   	
   ?	
   	
   	
  

Comment	
  continuer	
  les	
  enchères	
  ?	
  Quel	
  contrat	
  souhaitez	
  vous	
  jouer	
  ?	
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Donne	
  19	
  :	
  

R10874	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

A3	
   	
   	
   1P	
   	
   passe	
   	
   2T	
   	
   passe	
  

A873	
   	
   	
   2K	
   	
   passe	
   	
   3P	
   	
   passe	
   	
   	
   	
   	
   	
  

D2	
   	
   	
   ?	
   	
   	
  

	
   	
   	
   	
   	
   	
  

Comment	
  continuer	
  les	
  enchères	
  ?	
  Acceptez	
  vous	
  la	
  proposition	
  de	
  votre	
  partenaire	
  ?	
  

	
  

Donne	
  20	
  :	
  

AD97	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AV3	
   	
   	
   passe	
   	
   passe	
   	
   2T	
   	
   passe	
  

6	
   	
   	
   2K	
   	
   passe	
   	
   3T	
   	
   passe	
   	
   	
   	
   	
  

108764	
   	
   ?	
   	
   	
  

	
   	
   	
   	
   	
   	
  

Comment	
  continuer	
  les	
  enchères	
  ?	
  	
  

	
  

2.	
  Les	
  corrigés	
  commentés	
  :	
  

Donne	
  1	
  :	
  

AD10876	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD5	
   	
   	
   	
   	
   1P	
   	
   contre	
   4P*	
  

RD65	
   	
   	
   passe	
   	
   ?	
   	
   	
   	
   	
   	
   	
  

-­‐	
   	
   *	
  Soutien	
  distributionnel	
  11-­‐12	
  HLD	
  au	
  moins	
  4	
  atouts	
  

Ici,	
  difficile	
  demander	
  le	
  chelem	
  par	
  manque	
  d’informations	
  sur	
  les	
  honneurs	
  du	
  
partenaire	
  si	
  5215	
  avec	
  des	
  points	
  à	
  trèfle	
  et	
  à	
  pique	
  cela	
  risque	
  de	
  chuter	
  lourdement
	
   Cotation	
  :	
  Passe	
  =	
  20	
  	
   4SA	
  =	
  10	
   5K	
  =	
  10	
   5T	
  =	
  1	
  	
   	
  

Donne	
  2	
  :	
  

5	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

-­‐	
   	
   	
   2K	
   	
   passe	
   	
   3T*	
   	
   passe	
  

A5	
   	
   	
   4T	
   	
   passe	
   	
   4P	
   	
   passe	
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ARDV1098653	
   ?	
   	
   	
  

3T*	
  :	
  un	
  As	
  et	
  au	
  moins	
  un	
  roi	
  

Quelle	
  est	
  votre	
  enchère	
  ?	
  

	
   Ici,	
  la	
  connaissance	
  de	
  l’As	
  de	
  pique	
  chez	
  le	
  partenaire	
  et	
  au	
  moins	
  	
  Roi,	
  nous	
  garantit	
  
pratiquement	
  un	
  grand	
  chelem	
  sur	
  Table	
  (Roi	
  de	
  pique	
  ou	
  de	
  carreau	
  ,	
  si	
  Roi	
  de	
  cœur	
  une	
  
entame	
  de	
  l’As	
  de	
  cœur	
  nous	
  donne	
  le	
  contrat,	
  ou	
  singleton	
  carreau	
  avec	
  2	
  trèfles).	
  La	
  
main	
  de	
  votre	
  partenaire	
  :	
  

♠ 	
  ARV1074	
  	
  ♥ 	
  V964	
  	
  ♦ 	
  3	
  	
  ♣ 	
  42	
  

	
   Cotation	
  :	
  7T	
  =	
  20	
  	
   	
   6T	
  =	
  5	
  	
   6SA	
  et	
  7SA	
  =	
  0	
  (vous	
  êtes	
  contrés	
  pour	
  	
  -­‐4	
  ou	
  -­‐5	
  
suivant	
  votre	
  enchère).	
   	
   	
  

	
  

Donne	
  3	
  :	
  

A102	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

A86	
   	
   	
   	
   	
   	
   	
   	
   	
   1P	
  

RDV10876	
   	
   passe	
   	
   2K	
   	
   passe	
   	
   2C	
   	
  

-­‐	
   	
   	
   passe	
   	
   3P*	
   	
   passe	
   	
   4K**	
  

	
   	
   	
   passe	
   	
   4C**	
   	
   passe	
   	
   4P***	
  

	
   	
   	
   passe	
   	
   ?	
  

3P*	
  =	
  fit	
  forcing,	
  espoir	
  de	
  chelem	
  

4K**,	
  4C**	
  =	
  complément	
  d’honneur	
  dans	
  la	
  couleur	
  

4P***	
  =	
  plus	
  rien	
  à	
  dire	
  avec	
  certainement	
  des	
  perdantes	
  Trèfles	
  

	
   Ici,	
  Vous	
  avez	
  une	
  enchère	
  sublime	
  :	
  6T	
  =	
  contrôle	
  du	
  premier	
  tour	
  à	
  Trèfle	
  et	
  contrôle	
  
des	
  trois	
  autres	
  couleurs.	
  Vous	
  demandez	
  à	
  votre	
  partenaire	
  d’en	
  mettre	
  7	
  avec	
  l’As	
  de	
  
carreau,	
  des	
  beaux	
  piques	
  et	
  des	
  beaux	
  cœurs	
  :	
  c’est	
  une	
  décision	
  à	
  deux	
  que	
  vous	
  allez	
  
prendre	
  pour	
  ce	
  chelem.	
  Votre	
  partenaire	
  mettant	
  7P	
  après	
  votre	
  enchère.	
  La	
  main	
  de	
  
votre	
  partenaire	
  est	
  sublime	
  :	
  

♠ 	
  RDV95	
  	
  	
  ♥ 	
  RV109	
  	
  ♦ 	
  A	
  	
  ♣ 	
  DV10	
  

	
   Cotation	
  :	
  6T	
  =	
  25	
  	
   	
   5T	
  puis	
  6T	
  =	
  20	
   6K	
  =	
  12	
   6P	
  =	
  10	
  	
  	
   7K	
  ou	
  7P	
  =	
  5	
  
	
   Ici,	
  deux	
  grands	
  chelems	
  gagnent	
  :	
  7K	
  du	
  point	
  de	
  vue	
  d’Ouest	
  et	
  7P	
  du	
  point	
  de	
  vue	
  
d’Est.	
  	
   	
  

	
  

Donne	
  4	
  :	
  

A10964	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
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DV93	
   	
   	
   passe	
   	
   passe	
   	
   1K	
   	
   passe	
  

D4	
   	
   	
   1P	
   	
   passe	
   	
   2C	
   	
   passe	
   	
   	
   	
   	
  

98	
   	
   	
   3C	
   	
   passe	
   	
   4T	
   	
   passe	
  

	
   	
   	
   ?	
  

	
   Ici,	
  Vous	
  avez	
  une	
  enchère	
  de	
  4P	
  =	
  contrôle	
  pique,	
  n’ayez	
  pas	
  peur	
  de	
  dépasser	
  le	
  
palier	
  de	
  la	
  manche,	
  vous	
  avez	
  DV	
  de	
  cœur	
  en	
  complément	
  du	
  partenaire.	
  Il	
  continue	
  par	
  
4SA	
  pour	
  5K	
  et	
  6C.	
  La	
  main	
  du	
  partenaire	
  :	
  

♠ 	
  V	
  	
  ♥ 	
  AR84	
  	
  ♦ 	
  AV1076	
  	
  ♣ 	
  AR5	
  

	
   Cotation	
  :	
  4P	
  =	
  20	
  	
   	
   5C	
  	
  =	
  15	
   4C	
  =	
  10	
  	
   	
  

	
  

Donne	
  5	
  :	
  

AR86	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

RDV1062	
   	
   	
   	
   1K	
   	
   passe	
   	
   1C	
   	
  

D	
   	
   	
   passe	
   	
   3C	
   	
   passe	
   	
   3P	
   	
   	
  

V6	
   	
   	
   passe	
   	
   4T*	
   	
   passe	
   	
   4SA	
  

	
   	
   	
   Passe	
   	
   5T**	
   	
   passe	
   	
   ?	
  

4T*	
  =	
  contrôle	
  

5T**	
  =	
  0	
  ou	
  3	
  clefs	
  

Votre	
  partenaire	
  vous	
  annonce	
  une	
  main	
  de	
  18	
  19HLD	
  avec	
  quatre	
  cartes	
  à	
  cœur.	
  Quel	
  
contrat	
  souhaitez	
  vous	
  jouer	
  ?	
   	
   	
   	
   	
  

	
   Ici,	
  vous	
  souhaitez	
  connaître	
  le	
  nombre	
  de	
  roi	
  de	
  votre	
  partenaire.	
  Mettez	
  5SA,	
  sur	
  la	
  
quelle	
  il	
  vous	
  met	
  6K.	
  	
  Les	
  points	
  potentiels	
  de	
  votre	
  partenaire	
  (3	
  As,	
  1	
  Roi	
  et	
  
certainement	
  une	
  courte,	
  sinon	
  il	
  a	
  l’enchère	
  de	
  3SA	
  pour	
  indiquer	
  une	
  main	
  régulière)	
  .	
  
Vous	
  comptabilisez	
  6	
  cœurs,	
  2	
  piques,	
  2	
  coupes	
  et	
  2	
  As	
  et	
  un	
  Roi.	
  Sa	
  courte	
  est	
  
certainement	
  à	
  pique	
  compte	
  tenu	
  de	
  la	
  passivité	
  des	
  adversaires	
  qui	
  posséderaient	
  au	
  
moins	
  10	
  trèfles	
  dans	
  leur	
  ligne.	
  Un	
  grand	
  chelem	
  vous	
  tend	
  les	
  mains.	
  

♠ 	
  V	
  	
  ♥ 	
  A543	
  	
  ♦ 	
  A843	
  	
  ♣ 	
  AR53	
  

Cotation	
  :	
  5SA	
  =	
  20	
  	
   	
   6C	
  =	
  10	
   5P	
  =	
  5	
  	
   	
  

	
  

Donne	
  6	
  :	
  

AD10876	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD5	
   	
   	
   	
   	
   1P	
   	
   contre	
   4K*	
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RD65	
   	
   	
   passe	
   	
   ?	
   	
   	
   	
   	
   	
   	
  

-­‐	
   	
   	
   *	
  Soutien	
  distributionnel	
  11-­‐12	
  HLD	
  au	
  moins	
  4	
  atouts	
  et	
  5	
  beaux	
  
carreaux	
   	
   	
   	
  

	
   Ici,	
  la	
  connaissance	
  de	
  A10xxx	
  chez	
  le	
  partenaire	
  à	
  carreau	
  et	
  au	
  moins	
  4	
  atouts	
  et	
  un	
  
singleton,	
  nous	
  garantit	
  pratiquement	
  un	
  chelem	
  sur	
  Table.	
  N’hésitez	
  pas	
  à	
  poser	
  le	
  
Blackwood,	
  il	
  suffit	
  de	
  peu	
  de	
  choses	
  pour	
  garantir	
  ce	
  chelem	
  à	
  peu	
  de	
  points,	
  d’où	
  
l’utilité	
  de	
  bonnes	
  conventions	
  (voir	
  donne	
  1).	
  	
  Un	
  grand	
  chelem	
  est	
  sur	
  table.	
  

♠ 	
  R954	
  	
  ♥ 	
  8	
  	
  ♦ 	
  AV843	
  	
  ♣ 	
  652	
  

	
   Cotation	
  :	
  4SA	
  =	
  20	
  	
  	
   6P	
  =	
  15	
   5T	
  =	
  10	
   4P	
  =	
  2	
  	
   	
  

Donne	
  7	
  :	
  

A843	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

D5	
   	
   	
   passe	
   	
   1T	
   	
   passe	
  	
  	
   1K	
  

R	
   	
   	
   passe	
   	
   1P	
   	
   passe	
   	
   4P	
   	
   	
   	
   	
   	
  

AR7543	
   	
   passe	
   	
   ?	
   	
  

Votre	
  partenaire	
  a	
  promis	
  5	
  carreaux	
  corrects	
  avec	
  4	
  cartes	
  à	
  pique	
  et	
  une	
  main	
  de	
  13	
  
15HLD.	
  Continuez	
  vous	
  les	
  enchères	
  ?	
   	
  

Vous	
  avez	
  18HLD,	
  un	
  chelem	
  est	
  possible,	
  posez	
  le	
  Blackwood	
  pour	
  atteindre	
  cet	
  excellent	
  
chelem.	
  La	
  main	
  du	
  partenaire	
  qui	
  valide	
  votre	
  enchère.	
  

♠ 	
  RD92	
  	
  ♥ 	
  A106	
  	
  ♦ 	
  A9842	
  	
  ♣ 	
  8	
  

Cotation	
  :	
  4SA	
  =	
  20	
  	
   	
   passe	
  =	
  10	
   	
   5T	
  =	
  2	
  	
  

	
  

Donne	
  8	
  :	
  

AR9432	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

95	
   	
   	
   1K	
   	
   2P	
   	
   X	
   	
   4K*	
  

9874	
   	
   	
   6T	
   	
   passe*	
   6K	
   	
   passe	
   	
   	
   	
   	
   	
  

7	
   	
   	
   passe	
   	
   ?	
  

2P	
  :	
  intervention	
  classique	
  

4K*	
  :	
  splinter	
  ,	
  fit	
  au	
  moins	
  4ème	
  avec	
  une	
  courte	
  à	
  carreau	
  (certainement	
  une	
  chicane)	
  

6T	
  :	
  gros	
  bicolore	
  du	
  déclarant	
  demandant	
  au	
  partenaire	
  de	
  choisir	
  son	
  chelem	
  

passe*	
  :	
  l’entame	
  carreau	
  devrait	
  faire	
  chuter	
  de	
  2	
  ce	
  chelem	
  

6K	
  :	
  rectification	
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Le	
  déclarant	
  gagne	
  6K	
  en	
  affranchissant	
  ses	
  trèfles.	
  Donc	
  vous	
  savez	
  que	
  ce	
  chelem	
  va	
  
gagner,	
  connaissant	
  un	
  énorme	
  bicolore	
  en	
  Sud	
  (au	
  moins	
  6-­‐6	
  	
  d’après	
  les	
  enchères).	
  Vos	
  
piques	
  ne	
  passent	
  pas	
  !	
  Votre	
  partenaire	
  vous	
  tend	
  la	
  défense	
  par	
  sa	
  bonne	
  enchère	
  de	
  
4K.	
  Avec	
  deux	
  singletons,	
  la	
  chute	
  devrait	
  être	
  limitée.	
  Il	
  faut	
  défendre	
  à	
  6	
  Piques.	
  La	
  
main	
  de	
  votre	
  partenaire	
  :	
  

♠ 	
  D876	
  	
  ♥ 	
  RD7632	
  	
  ♦ 	
  -­‐	
  	
  ♣ 	
  1082	
  	
   La	
  main	
  de	
  SUD	
  :	
  ♠ 	
  V	
  	
  ♥ 	
  -­‐	
  	
  ♦ 	
  ARV1062	
  	
  ♣ 	
  ARV1095	
  

Cotation	
  :	
  6P	
  =	
  20	
  	
   	
   passe	
  =	
  5	
   	
   	
  

	
  

Donne	
  9	
  :	
  vous	
  êtes	
  en	
  match	
  par	
  paire	
  

84	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

R8	
   	
   	
   	
   	
   	
   	
   	
   	
   1C	
  

RD74	
   	
   	
   passe	
   	
   2T	
   	
   passe	
   	
   3T	
   	
  

ARD86	
   	
   passe	
   	
   3K	
   	
   passe	
   	
   3P	
  

	
   	
   	
   passe	
   	
   4C	
   	
   passe	
   	
   4P*	
  

	
   	
   	
   passe	
   	
   4SA	
   	
   passe	
   	
   5SA**	
  

	
   	
   	
   passe	
   	
   ?	
   	
   	
   	
   	
   	
  

3K,	
  3P	
  :	
  contrôles	
  

4C	
  :	
  un	
  gros	
  honneur	
  second	
  

4P*	
  :	
  double	
  contrôle	
  pique	
  

5SA**	
  :	
  Deux	
  clés	
  et	
  une	
  chicane	
  utile.	
  Réponse	
  rare	
  	
  à	
  ne	
  pas	
  oublier	
  mais	
  à	
  utiliser	
  
uniquement	
  quand	
  :	
  

-­‐ vous	
  avez	
  une	
  main	
  intéressante	
  
-­‐ la	
  chicane	
  est	
  utile	
  

Il	
  vous	
  reste	
  à	
  grimper	
  une	
  ou	
  deux	
  marches.	
  Sur	
  laquelle	
  allez	
  vous	
  atterrir	
  ?	
  

Vous	
  ne	
  seriez	
  pas	
  mécontent	
  de	
  jouer	
  7	
  Trèfles	
  ,	
  2P	
  +	
  4C	
  (affranchissement	
  par	
  la	
  coupe)	
  
+	
  2	
  coupes	
  à	
  carreau+	
  5	
  T	
  font	
  bien	
  13	
  levées.	
  Assis	
  en	
  Ouest	
  vous	
  devez	
  faire	
  confiance	
  
aux	
  enchères	
  de	
  votre	
  partenaire	
  en	
  sortant	
  l’enchère	
  de	
  7T.	
  La	
  main	
  du	
  partenaire	
  :	
  

♠ 	
  AR63	
  	
  ♥ 	
  AD762	
  	
  ♦ 	
  -­‐	
  	
  ♣ 	
  V1075	
  	
   	
  

Cotation	
  :	
  7T	
  =	
  20	
  	
   6T	
  =	
  15	
   6SA	
  =	
  8	
   	
  

NB	
  :	
  nous	
  avons	
  vu	
  deux	
  manières	
  d’indiquer	
  une	
  chicane	
  :	
  1)	
  le	
  Master	
  shot	
  par	
  un	
  saut	
  
au	
  palier	
  de	
  6	
  (Cf	
  donne	
  3),	
  2)	
  l’annonce	
  au	
  palier	
  de	
  5	
  puis	
  de	
  6,	
  puis	
  par	
  la	
  réponse	
  de	
  
5SA	
  au	
  Blackwood.	
  Cette	
  réponse	
  implique	
  la	
  possession	
  de	
  2	
  clés	
  et	
  une	
  chicane.	
  On	
  
répond	
  6T	
  avec	
  3	
  clés	
  et	
  6K	
  avec	
  4	
  clés.	
  Si	
  vous	
  aviez	
  5	
  clés	
  et	
  une	
  chicane,	
  vous	
  devez	
  
rapprendre	
  vos	
  tables	
  d’addition.	
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Donne	
  10	
  :	
  

RV764	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

RV	
   	
   	
   2K	
   	
   passe	
   	
   2SA	
   	
   passe	
   	
   	
  

765	
   	
   	
   3SA	
   	
   passe	
   	
   4C	
   	
   passe	
   	
   	
  

V63	
   	
   	
   5P	
   	
   passe	
   	
   ?	
   	
  

Le	
  rebid	
  à	
  3SA	
  indique	
  une	
  main	
  régulière	
  de	
  24H	
  et	
  plus,	
  vous	
  faites	
  un	
  Texas	
  et	
  votre	
  
partenaire	
  met	
  5P.	
  A	
  vous	
  de	
  conclure	
  ?	
  

Vous	
  avez	
  9H	
  et	
  votre	
  partenaire	
  possède	
  au	
  moins	
  4	
  cartes	
  à	
  pique	
  avec	
  deux	
  honneurs	
  
et	
  le	
  contrôle	
  des	
  trois	
  autres	
  couleurs.	
  N’hésitez	
  pas,	
  mettez	
  le	
  6ème.	
  

♠ 	
  AD1093	
  	
  ♥ 	
  A5	
  	
  ♦ 	
  ARV	
  	
  ♣ 	
  AD4	
  	
   	
  

Cotation	
  :	
  6P	
  =	
  20	
  	
   passe	
  =	
  10	
   	
   	
  

Donne	
  11	
  :	
  

A7	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

V10643	
   	
   	
   	
   	
   	
   1T	
   	
   passe	
  

AD8	
   	
   	
   1C	
   	
   passe	
   	
   2C	
   	
   passe	
   	
   	
  

AR4	
   	
   	
   ?	
  

	
   Un	
  chelem	
  est	
  très	
  probable,	
  compte	
  tenu	
  de	
  vos	
  5	
  cartes	
  à	
  cœur	
  et	
  de	
  vos	
  18	
  points	
  
d’honneurs.	
  Quelle	
  enchère	
  faites	
  vous	
  ?	
  

Indiquez	
  votre	
  complément	
  trèfle,	
  c’est	
  peut	
  être	
  l’enchère	
  qui	
  peut	
  vous	
  permettre	
  de	
  
réaliser	
  un	
  grand	
  chelem.	
  Ici	
  sur	
  3T,	
  votre	
  partenaire	
  met	
  4C	
  (main	
  minimale)	
  sur	
  lequel	
  
vous	
  appelez	
  le	
  petit	
  chelem	
  

♠ 	
  R84	
  	
  ♥ 	
  AR97	
  	
  ♦ 	
  R6	
  	
  ♣ 	
  10752	
  	
   	
  

Cotation	
  :	
  3T	
  =	
  20	
  	
   3K	
  =	
  15	
   5C	
  =	
  10	
   4C	
  =	
  1	
  	
  

Principe	
  :	
  recherchez	
  en	
  priorité	
  les	
  compléments	
  d’honneur	
  dans	
  vos	
  couleurs	
  
communes,	
  ce	
  sont	
  des	
  sources	
  de	
  levées.	
  	
  

Donne	
  12	
  :	
  

D10	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD10	
   	
   	
   	
   	
   1T	
   	
   passe	
   	
   1K	
  

A10532	
   	
   passe	
   	
   2P	
   	
   passe	
   	
   3T*	
   	
   	
   	
  

982	
   	
   	
   passe	
   	
   4T**	
   	
   passe	
   	
   ?	
  

3T*	
  =	
  fit	
  forcing	
  dans	
  la	
  première	
  couleur	
  du	
  partenaire`	
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4T**	
  =	
  très	
  belle	
  couleur	
  de	
  l’ouvreur	
  (couleur	
  qui	
  voyage	
  en	
  TGV	
  1ère	
  classe).	
  

Vers	
  5,6	
  ou	
  7	
  et	
  comment	
  ?	
  

Le	
  problème	
  du	
  choix	
  du	
  contrat	
  final	
  vous	
  incombe.	
  Il	
  faut	
  imaginer	
  la	
  suite	
  des	
  
enchères	
  :	
  si	
  vous	
  dites	
  4K,	
  4C	
  du	
  partenaire	
  et	
  vous	
  êtes	
  toujours	
  dans	
  le	
  flou	
  quoique	
  
que	
  votre	
  partenaire	
  doit	
  posséder	
  au	
  un	
  gros	
  honneur	
  .	
  La	
  bonne	
  enchère	
  est	
  4C,	
  votre	
  
partenaire	
  met	
  4P,	
  vous	
  posez	
  le	
  Blackwood	
  et	
  entendez	
  5T.	
  Vous	
  mettez	
  5P	
  (indique	
  un	
  
complément	
  d’honneur	
  à	
  pique	
  en	
  imposant	
  le	
  chelem).	
  Votre	
  partenaire	
  juge	
  sa	
  main	
  et	
  
rajoute	
  le	
  7ème.	
  

♠ 	
  AR62	
  	
  ♥ 	
  5	
  	
  ♦ 	
  2	
  	
  ♣ 	
  ARD10763	
  	
   	
  

Cotation	
  :	
  4C	
  =	
  20	
  	
   4K	
  =	
  19	
   4SA	
  =	
  8	
  (dirige	
  la	
  moto	
  depuis	
  le	
  siège	
  arrière)	
   	
  

Donne	
  13	
  :	
  vous	
  êtes	
  en	
  match	
  par	
  paire	
  

R108	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

V4	
   	
   	
   	
   	
   1K	
   	
   passe	
   	
   1P	
   	
   	
  

RV97	
   	
   	
   passe	
   	
   1SA	
   	
   passe	
   	
   3K*	
   	
   	
   	
   	
   	
  

RDV9	
   	
   	
   passe	
   	
   3P	
   	
   passe	
   	
   4T	
  

	
   	
   	
   passe	
   	
   4K	
   	
   passe	
   	
   4SA	
  

	
   	
   	
   passe	
   	
   ?	
  

3K*	
  :	
  forcing	
  de	
  manche	
  sans	
  5	
  cartes	
  à	
  pique	
  (absence	
  de	
  Roudi)	
  

3P	
  :	
  complément	
  à	
  pique	
  	
  

4T	
  :	
  contrôle	
  à	
  Trèfle	
  et	
  à	
  cœur	
  (vous	
  dépassez	
  la	
  manche	
  à	
  Sans	
  atout)	
  

4SA	
  :	
  Est	
  ce	
  un	
  Blackwood	
  ou	
  un	
  quantitatif.	
  A	
  vous	
  !	
  

C’est	
  un	
  Blackwood,	
  fit	
  explicite	
  à	
  3	
  K.	
  Vous	
  devez	
  absolument	
  répondre	
  à	
  ce	
  Blackwood	
  à	
  
l’atout	
  carreau.	
  	
  

♠ 	
  A963	
  	
  ♥ 	
  A52	
  	
  ♦ 	
  AD83	
  	
  ♣ 	
  A10	
   	
  

Cotation	
  :	
  5K	
  =	
  20	
  	
   5T	
  =	
  0	
  (oubli	
  !)	
   passe	
  =	
  0	
  (on	
  ne	
  passe	
  pas	
  sur	
  un	
  blackwood)	
  	
  

Donne	
  14	
  :	
  

A10872	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

R8	
   	
   	
   	
   	
   	
   	
   	
   	
   1C	
  

ADV5	
   	
   	
   passe	
   	
   1P	
   	
   passe	
   	
   4T*	
   	
   	
   	
  

62	
   	
   	
   passe	
   	
   ?	
  

La	
  suite	
  semble	
  couler	
  de	
  source….	
  Mais	
  laquelle	
  ?	
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Votre	
  partenaire	
  fait	
  un	
  Splinter,	
  il	
  vous	
  impose	
  la	
  manche	
  et	
  vous	
  passe	
  le	
  capitanat	
  de	
  
la	
  séquence.	
  	
  Posez	
  le	
  blackwood	
  et	
  attendez	
  la	
  réponse	
  de	
  votre	
  partenaire	
  

Cotation	
  :	
  4SA	
  =	
  20	
  	
   4K	
  =	
  10	
   5P	
  =	
  8	
  	
   6P	
  =	
  5	
  	
   4P	
  =	
  0	
  	
  (arrêtez	
  le	
  prozac)	
  

Autopsie	
  de	
  la	
  donne	
  :	
  le	
  chelem	
  à	
  cœur	
  ou	
  à	
  Sans	
  Atout	
  est	
  sur	
  table	
  grâce	
  à	
  l’anticolore	
  à	
  
carreau	
  (difficile	
  à	
  trouver).	
  Le	
  chelem	
  à	
  pique	
  dépend	
  de	
  la	
  répartition	
  des	
  atouts.	
  

La	
  main	
  d’Est	
  :	
  ♠ 	
  D965	
  	
  ♥ 	
  ADV765	
  	
  ♦ 	
  R10	
  	
  ♣ 	
  A	
   	
  

Remarque	
  :	
  L’enchère	
  de	
  4T	
  est	
  douteuse	
  (on	
  ne	
  fait	
  pas	
  un	
  Splinter	
  avec	
  un	
  gros	
  
honneur	
  sec),	
  3C	
  semble	
  une	
  meilleur	
  enchère	
  ,	
  on	
  se	
  donne	
  toutes	
  les	
  possibilités	
  pour	
  
la	
  suite	
  (fit	
  de	
  2	
  cartes	
  suffisent),	
  si	
  Est	
  met	
  3P	
  alors	
  on	
  peut	
  fitter	
  à	
  4P	
  et	
  votre	
  
partenaire	
  jugera	
  sa	
  main.	
  

Donne	
  15	
  :	
  

D2	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AD42	
   	
   	
   1SA*	
   	
   passe	
   	
   2C	
   	
   passe	
  

8764	
   	
   	
   2P	
   	
   passe	
   	
   3C**	
   	
   passe	
   	
   	
   	
  

R102	
   	
   	
   4T***	
   	
   passe	
   	
   4K	
   	
   passe	
  

	
   	
   	
   4SA	
   	
   passe	
   	
   5K****	
   passe	
  

	
   	
   	
   ?	
   	
   	
  

1SA*	
  =	
  10	
  12H	
  (très	
  fréquent	
  dans	
  les	
  pays	
  anglo	
  saxons)	
  

3C**	
  =	
  5	
  cartes	
  à	
  cœur	
  chelemisant	
  

4T***	
  =	
  contrôle	
  trèfle,	
  fit	
  cœur	
  	
  

4K	
  =	
  contrôle	
  

5K****	
  =	
  3	
  clés	
  à	
  l’atout	
  cœur	
  

Quelle	
  est	
  votre	
  enchère	
  ?	
  Quel	
  contrat	
  envisagez	
  vous	
  ?	
  

Mettez	
  5SA	
  pour	
  demander	
  l’avis	
  de	
  votre	
  partenaire	
  pour	
  le	
  Grand	
  Chelem.	
  Sur	
  le	
  5SA	
  ,	
  
votre	
  partenaire	
  conclue	
  à	
  7C.	
  	
  

	
   Cotation	
  :	
  5SA	
  =	
  20	
  	
  	
   6C	
  =	
  10	
   	
  

La	
  main	
  de	
  Nord	
  :	
  ♠ 	
  AR876	
  	
  ♥ 	
  RV865	
  	
  ♦ 	
  A3	
  	
  ♣ 	
  A	
  	
  

Autopsie	
  de	
  la	
  donne	
  :	
  le	
  grand	
  chelem	
  à	
  cœur	
  est	
  le	
  seul	
  qui	
  gagne,	
  les	
  piques	
  étant	
  mal	
  
répartis	
  (4-­‐2,	
  avec	
  V1095	
  dans	
  une	
  main).	
  

	
  

Donne	
  16	
  :	
  

A4	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  



♣♦♥♠ 	
   	
  	
   Bridge	
  ENS	
  
	
  

JLN Cours	
  Année	
  3 page	
  15/17	
  
	
  

DV75	
   	
   	
   1T	
   	
   1P	
   	
   2C	
   	
   3P	
  

AV5	
   	
   	
   ?	
   	
   	
   	
   	
   	
  

ADV10	
   	
   	
   	
  

	
   La	
  séquence	
  démarre	
  bien,	
  mais	
  les	
  adversaires	
  (Vert	
  contre	
  Rouge)	
  ont	
  décidé	
  de	
  
vous	
  embêter	
  en	
  polluant	
  sciemment	
  votre	
  dialogue.	
  Quelle	
  est	
  votre	
  enchère	
  ?	
   	
   	
  

Votre	
  partenaire	
  a	
  au	
  moins	
  10	
  11H	
  (12-­‐13HL)	
  en	
  nommant	
  ses	
  cœurs	
  au	
  palier	
  de	
  2	
  ;	
  il	
  
en	
  a	
  forcément	
  5	
  voir	
  6.	
  Il	
  faut	
  faire	
  une	
  enchère	
  forcing	
  pour	
  indiquer	
  votre	
  espoir	
  de	
  
chelem.	
  Mettez	
  4	
  Piques	
  qui	
  a	
  le	
  mérite	
  de	
  bloquer	
  Ouest	
  sous	
  peine	
  d’une	
  grosse	
  
pénalité.	
  

Cotation	
  :	
  4P	
  =	
  20	
  	
   4SA=	
  10	
  (cf	
  donne	
  12)	
   4C	
  =	
  0	
  (Cf	
  donne	
  14)	
   	
  

La	
  main	
  de	
  Nord	
  :	
  ♠ 	
  RV	
  	
  ♥ 	
  A1096432	
  	
  ♦ 	
  104	
  	
  ♣ 	
  R4	
   	
  

Remarque	
  :	
  il	
  y	
  a	
  7C	
  et	
  7SA	
  par	
  la	
  grâce	
  des	
  atouts	
  1-­‐1	
  (Roi	
  sec),	
  impossible	
  à	
  demander	
  
(si	
  vous	
  l’avez	
  demandé	
  jouez	
  au	
  loto	
  c’est	
  votre	
  jour).	
  

	
  

Donne	
  17	
  :	
  

AD8	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

A6	
   	
   	
   2SA	
   	
   passe	
   	
   3C	
   	
   passe	
  

A63	
   	
   	
   ?	
   	
   	
   	
   	
   	
  

AR1075	
   	
   	
   	
  

Vous	
  jouez	
  la	
  rectification	
  fittée.	
  Vous	
  êtes	
  maximum	
  de	
  votre	
  enchère.	
  Quelle	
  est	
  
votre	
  enchère	
  ?	
  

Si	
  vous	
  aviez	
  4	
  atouts	
  par	
  As	
  Dame	
  vous	
  auriez	
  produit	
  l’enchère	
  de	
  4	
  Piques	
  (tous	
  les	
  
contrôles	
  externes,	
  main	
  maxi	
  4	
  beaux	
  atouts)	
  .	
  Ici	
  vous	
  n’en	
  n’avez	
  que	
  3	
  mais	
  une	
  belle	
  
couleur	
  5ème	
  commandée	
  par	
  As	
  Roi.	
  	
  Mettez	
  4T	
  votre	
  partenaire	
  comprendra	
  et	
  jugera	
  sa	
  
main.	
  

Cotation	
  :	
  4T	
  =	
  20	
  	
   3P	
  =	
  10	
   4P	
  =	
  8	
  	
   	
  

Donne	
  18	
  :	
  

532	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

ARD5	
   	
   	
   	
   	
   	
   	
   1C	
   	
   passe	
  

-­‐	
   	
   	
   2T	
   	
   passe	
   	
   2K	
   	
   passe	
   	
   	
   	
   	
   	
  

ARD852	
   	
   3C	
   	
   passe	
   	
   3P	
   	
   passe	
  

	
   	
   	
   ?	
   	
   	
  

Comment	
  continuer	
  les	
  enchères	
  ?	
  Quel	
  contrat	
  souhaitez	
  vous	
  jouer	
  ?	
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Votre	
  problème	
  consiste	
  à	
  connaître	
  l’As	
  de	
  pique	
  de	
  votre	
  partenaire	
  afin	
  de	
  jouer	
  7C	
  
sinon	
  on	
  se	
  contentera	
  de	
  6C.	
  Il	
  existe	
  une	
  enchère	
  qui	
  peut	
  vous	
  aider	
  :	
  c’est	
  le	
  
Blackwood	
  d’exclusion	
  (saut	
  au	
  palier	
  de	
  5	
  dans	
  la	
  couleur	
  où	
  nous	
  souhaitons	
  pas	
  
connaître	
  cet	
  As),	
  les	
  réponses	
  sont	
  identiques	
  par	
  palier.	
  

Cotation	
  :	
  5K	
  =	
  20	
  	
   4T	
  =	
  15	
   6C	
  =	
  10	
   4SA	
  =	
  8	
  	
   	
  

Remarque	
  :	
  sur	
  5K,	
  votre	
  partenaire	
  enchérit	
  à	
  5P	
  (une	
  clef	
  c’est	
  forcément	
  l’As	
  de	
  
pique),	
  vous	
  pouvez	
  mettre	
  7C.	
  La	
  main	
  de	
  votre	
  partenaire	
  :	
  

La	
  main	
  de	
  Nord	
  :	
  ♠ 	
  AR	
  	
  ♥ 	
  V109643	
  	
  ♦ 	
  RV84	
  	
  ♣ 	
  V	
  

	
  

Donne	
  19	
  :	
  

R10874	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

A3	
   	
   	
   1P	
   	
   passe	
   	
   2T	
   	
   passe	
  

A873	
   	
   	
   2K	
   	
   passe	
   	
   3P	
   	
   passe	
   	
   	
   	
   	
   	
  

D2	
   	
   	
   ?	
   	
   	
  

	
   	
   	
   	
   	
   	
  

Comment	
  continuer	
  les	
  enchères	
  ?	
  Acceptez	
  vous	
  la	
  proposition	
  de	
  votre	
  partenaire	
  ?	
  

Votre	
  main	
  a	
  certes	
  que	
  13HL	
  mais	
  vous	
  avez	
  toutes	
  les	
  bonnes	
  cartes	
  :	
  Le	
  Roi	
  de	
  pique,	
  deux	
  
As	
  et	
  la	
  Dame	
  de	
  trèfle	
  dans	
  la	
  couleur	
  du	
  partenaire.	
  Si	
  vous	
  êtes	
  optimiste,	
  vous	
  annoncez	
  
votre	
  contrôle	
  carreau	
  et	
  votre	
  partenaire	
  ne	
  vous	
  lâche	
  plus	
  jusqu’à	
  7C.	
  Sinon,	
  il	
  existe	
  une	
  
enchère	
  technique	
  pour	
  décrire	
  votre	
  main	
  :	
  3SA	
  «	
  OUI	
  MAIS	
  »	
  indiquant	
  au	
  partenaire	
  une	
  
main	
  intermédiaire	
  entre	
  le	
  coup	
  de	
  frein	
  et	
  l’encouragement.	
  La	
  suite	
  des	
  enchères	
  est	
  la	
  
suivante	
  :	
  

R10874	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
   	
   	
   AD95	
  

A3	
   	
   	
   1P	
   	
   passe	
   	
   2T	
   	
   passe	
   	
   	
   D104	
  

A873	
   	
   	
   2K	
   	
   passe	
   	
   3P	
   	
   passe	
   	
   	
   4	
   	
   	
  

D2	
   	
   	
   3SA	
   	
   passe	
   	
   4K	
   	
   passe	
   	
   	
   ARV63	
  

	
   	
   	
   4C	
   	
   passe	
   	
   4SA	
   	
   passe	
  

	
   	
   	
   5T	
   	
   passe	
   	
   6T	
   	
   passe	
  

	
   	
   	
   7P	
  

Cotation	
  :	
  3SA	
  =	
  20	
  	
   4K	
  =	
  15	
   4P	
  =	
  0	
  	
   	
   	
  

Donne	
  20	
  :	
  

AD97	
   	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

AV3	
   	
   	
   passe	
   	
   passe	
   	
   2T	
   	
   passe	
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6	
   	
   	
   2K	
   	
   passe	
   	
   3T	
   	
   passe	
   	
   	
   	
   	
  

108764	
   	
   ?	
   	
   	
  

	
   	
   	
   	
   	
   	
  

Comment	
  continuer	
  les	
  enchères	
  ?	
  	
  

Votre	
  main	
  est	
  superbe,	
  tout	
  en	
  contrôle.	
  IL	
  faut	
  indiquer	
  au	
  partenaire	
  votre	
  volonté	
  de	
  
jouer	
  un	
  chelem.	
  Dites	
  4T	
  =	
  forcing,	
  espoir	
  de	
  chelem.	
  Si	
  votre	
  partenaire	
  dit	
  4K,	
  vous	
  
passerez	
  par	
  le	
  Blackwood	
  pour	
  nommer	
  6T.	
  

Cotation	
  :	
  4T	
  =	
  20	
  	
   4SA	
  =	
  10	
  	
   6T	
  =	
  10	
   5T	
  =	
  0	
  	
  (vous	
  êtes	
  déprimé	
  !)	
   	
   	
  

Remarque	
  :	
  Il	
  y	
  a	
  7T	
  sur	
  l’impasse	
  au	
  Roi	
  de	
  cœur.	
  On	
  joue	
  au	
  Bridge	
  pas	
  au	
  poker	
  !	
  La	
  
main	
  du	
  partenaire	
  :	
  

La	
  main	
  de	
  Nord	
  :	
  ♠ 	
  R	
  	
  ♥ 	
  D6	
  	
  ♦ 	
  AV105	
  	
  ♣ 	
  ARDV52	
  

	
  

Plus	
  de	
  400	
  points	
  possibles	
  :	
  

 	
  de	
  50	
  à	
  100	
  points	
  :	
  Seriez	
  vous	
  dans	
  un	
  mauvais	
  jour.	
  Il	
  semble	
  que	
  vous	
  deviez	
  reprendre	
  des	
  
cours,	
  ceux	
  du	
  mercredi	
  soir	
  devrait	
  vous	
  y	
  aider.	
  

 	
  de	
  100	
  à	
  200	
  points	
  :	
  Vous	
  avez	
  encore	
  beaucoup	
  de	
  travail	
  à	
  faire	
  pour	
  vous	
  améliorer,	
  relisez	
  
correctement	
  les	
  enchères	
  de	
  bases	
  puis	
  le	
  cours	
  sur	
  les	
  chelems.	
  

 	
  de	
  200	
  à	
  275	
  points	
  :	
  Vous	
  êtes	
  sur	
  la	
  bonne	
  voie,	
  peaufinez	
  certaines	
  enchères	
  avec	
  votre	
  
partenaire	
  préféré.	
  

 	
  de	
  275	
  à	
  350	
  points	
  :	
  C’est	
  très	
  bien,	
  vous	
  pouvez	
  partir	
  en	
  compétitions	
  avec	
  votre	
  partenaire.	
  

 	
  de	
  Plus	
  de	
  350	
  points	
  :	
  Si	
  l’ENS	
  recherche	
  un	
  enseignant	
  vous	
  devriez	
  faire	
  l’affaire.	
  


